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4. (Gambler’s ruin problem) A,/ B2 0000000000, 0000D0O00O0O eO,b0000.

(a,b€Z+)IZI|Z|IZIEIIZIIZI|ZIIZI|ZIIZI 100000,00000 2000000000. 0000000
0 1/2000.000,000000000000000000000000000. 0000000
0000000000000 0000000D0,A00000D00000 a/(e+b)000000O0OO.
goboobboobobooboooboobooa.
000 300000UuUuooouoooooo. A,B,C300000UUdUU,0ooguoooo
a,b,c0000. (a,b,c€Zt) 0000000000 100000,001/300000030000
go0obO0o.000,100000DO0DOD,0D00 2000000000DO0ODO0ODOODOODODO. O
O0e+b+c0000000000000O0O0O0OOOOO. 0000000000 00O000O0,A00
0000 a/(a+b+¢)000000000. 000000ODOOOODOO.



